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Instructions to the candﬁqgs:
1) All questzo %’e co:gg\‘ Isory

or ﬁlhng the blanks of following questions{(ea¢h 4 mark).
[10]

a) Object Onented Languave b) Object Quel‘%Languaoe
c) ﬁﬁbject Quantum Language d) Objest Qﬁ@ry Logic

2 A Yiatd‘base which is able to handle, complex fela‘uonshlp
i i 6@)5; Fllcs.
¢) Information

3) A DBMS uses a transactigl
update the database. v

;%o>

a) log table
c) " block y"*é 7 d)  statement
) o~ ; 7
4) A timestamp\ordéring scheme ensures : »?
a) Setializability %gﬁ b) Cascading Ko
c), ‘Atomiicity ¢’ d) Consistency )

5)* DBMS running across multiple processors called
a) Distributed system
c) Centralized system

6) InanE-R Diagram entities are represented by,
a) Circle
¢) Diamond

7)  Rows of a relation are called

a) tuple b) afeiiatlon
c) adata structure d) @rentlty

ETO.



8)

Which of the constraint can be enforced one per table
: a) Primary key

A by Notnull

2 ¢y Fore
5

d) Check

lswmg oannot be taken as a primary key?

b) Register Number

d) Street
10) tithe fouow ing is not NOSQL Database?
-assaggdré ~b) MongDB
SQLselver d) None of the above
~ aiv

11) What' afe the type of NOSQL Database. { e
a) %Document database M
B> "Key value store A g;‘%f
¢) Graph of column-oriented dauf},a%e \+f

d) All of the above PoeX¢
. | ) gj}j ¢ '
12) The core principle of NOS__
a) Highavailability %% b Low availability
c) Bothhigh & lowaya 5 1hty d) None of the above
»;@fj:* A
13) Which of the follonyiri is .,Q%djt" a type of data base?
a) Hierarchieal > b) Network
c) DiStributed %é% ~d) Decentralized
%ﬁ
14)

a) \ICL (Transactlon Control languagc)
b) DCL (Data Control Language)
¢) - DDL (Data Definition Language)

t= o
d) DML (Data manipulation Language)
15)

x

A distributed transaction can be
more nodes.

3
s
{‘m \

i&%\quer;es Vare issued at one or
% N
o
a) Fully read-write b) @artmﬂ»yread—wnte
c) Partially read-only d) FulLy read- only
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16) Which statement is used to revoke an authorization.
a) Revoke b) Modify
c) Alter d)  Commit

17) A dlstmbuted database has N‘Tnch of the following advantages over a

c) Modul@r&groy
d) Software ceg;

18) z"ﬁ@zgﬁyem N OSQL was released
b G06 by 1997
d) 1999 o
N‘;::f: .
19) Wh]ch of the following is a NOSQL Database?\v
a),{;?zSQL b) JSONAF:
¢)* Document Database d) \edl 0 :*:ne above

e W

20) A schedule in which each transt&ndn “1,5 executed atomically is called a

r 4
. R, ¢

a) Non serial schedule ey

b) Serial schedule § é*?;}

¢) Parallel schedifle 'y S sﬁf

d) Non paralled sci“*e‘dule a4
S’ %s

- Q2) Draw the E-R Biagram for, the following system & explain notatlox%&
RelationghipX¥X.Z hospltal isa multlspemahty hospital that includes a names
of department, fooms, Dqgtors nurses, compounders of other Workmg staff.
Patient having different Kind of ailments come to the hospét%hof gﬁxf%ﬁeckup
done from the coneemed doctors. If requlred they are adm;;ted irrthe hospital

sty is-{o design and
gﬁreth s of various

%tams records of

1 th \ eckup of patient

el}“\(\perated and patient

develop a database for the hosp1ta1 to maintair
department, rooms and doctors in the hospital. 1

done by the doctors the patients that ha '

discharged from the hospital. Ry Y [10 ]
NN
OR Q;w
What is meant by lock? Explain two phase 10@kmg protocal for concurrency
control with example. X [10]

!
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03) a) Describe the data base 3-tier schema architecture:
b) Write short note on mobile database.

&%

premmy g
€5
bl b

a) What is need of

te characteristics of UbMs.

b) Write the charact [5i
04) a) Write the log\base Tecovery techniques with example? 51
b) Write shét note:or Grant and revoking privilege with example [5
A OR
a) Wi&;ag%m Dé;cabase Backup of types of backup? [5i
- n
b) Write shert note on mandatory Access control. 5]
o : L
0s5) Explai;é?ﬁﬁe Inter query of Intraquery parallelizm ‘details with example. [1¢]
6\ .» : s
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